NAME

DATE

Practice

Complex Numbers

Simplify.

1.

11.
13.
15.

17.

V —49

(T~ 60) + (9 + 114)

—6(2 — 8i) + 3(5 + Ti)
(3 — 482
(6 — 4i)6 + 41)

5(2 + 3i) + 6(8 — 5i)

Solve each equation.

19.

21.

n*+25=20

6y? + 42 = 0

10.

12.

14.

16.

18.

20.

22,

Student Edition
Pages 310-316

(5 +V—-8) + (-13 + 4V-2)

47 — i) — 5(2 — 61)

V5 + 21y
(8 — V-11)8 + V—11)

(4 + 3i)(2 — 5i)4 — 3i)

m?*+ 10 =0

4r* + 64 =0

Find the values of x and y for which each equation is true.

23.

3x — byi = 15 — 20¢
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24.

V3x + Tyi = 6 — 2i
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NAME

DATE

Practice

Complex Numbers
Simplify.

f%,f V=49 Ti

L

3. 6V/=12 12iV3

/9. (7 - 6i) + (9 + 11i)
“" 16 + 5i

11. —6(2 — 8i) + 3(5 + 7i)
3 + 69f

13, (3 — 4y
—7 — 24i

5. (6 — 4i)6 + 4i)
i fgﬁ

17. 5(2 + 3i) + 6(8 — 51)
58 — 15i

Solve each equation.
19. n* + 25 = 0 5§

21, 6y + 42 =0 +=iV7

/

Student Edition
Pages 310-316

2. \V/—48 4i\/3

10. (5 + V=8) + (~13 + 4V-2)
— 8 + 6iV2

§14/ J(V5 + 287
1+ 4iV5E

16. (8 — V~11)8 + V—11)
75 ,

(18] (4 + 3i)2 - 5iX4 — 30)
o @Q@ . ‘{é Qﬁgéﬁ

20m2 +10=0 £/\10

m

22. 4r: + 64 = 0 *=4j

Find the values of x and y for which each equation is true.

23. 3x — byi = 15 — 201
X =25

© Glencoe/McGraw-Hill

24, \/3x + Tyi = 6 — 2i
X = 2V/3
_. 2
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